6.1 Day 2 Worksheet: The Equation of a Line in
Slope y-Intercept Form: y=mx+ b

1. Complete the table.

Equation Slope | y-Intercept

a) y=4x+1 n/\'—,"l k}’-\

REECE S B

M= | b=-"3
¢ |y=-2x <=7 h=0O
d) [y=—=x+2 YY\:‘\ b=

slope:  ¢ns %

y-intercept: by - "E

3. Write the equation of each line in
question 2.

a) %:%%G)
b) \s: '/611‘\’1

c) \6: "%Y/'g

d) W* %X%«E

y-intercept: |, =7



4. Write the equation of each line.

Equation; \s -

5. Write the equation of a line with each

slope and y-intercept.

Slope y-Intercept
a) -2 1
b) 2 -
3 4
c) 5 0
d) _3
2
a) b\\: . ;L”)ci*'\
b we Ex -4
¢) = (2

. Find the slope and y-intercept of each line,

if they exist. Graph each line.
a) y= —%x +3

slope: = -.‘.i

y-intercept: b3

b) y=x-4
slope: M=\

y-intercept: b= -4

¢) y=35

slope: M =0

y-intercept: & = 5




7
d)y=-§ ) y=;

)

slope: W= "5 m=G
be2.5
y-intercept: bz ©
\ Ty
d) x=-25
. Mz w\c‘a%\r\ﬂa
7. State the slope and the y-intercept of each
line, if they exist. Then graph each line. Po ‘3_.\\;.%5'-6%&5“
a) y=-b5
m= O
b= -5
Answers
i.
Equation Slope y-Intercept
a) | y=4x+1 4 1
1
b)| »y=2 - > -3
b) x=1 2 2
¢) | y=-2x -2 0
& | y=—x+2 -1 2
2, a) -3;6
Mz undSeLd by 12
2
fo \d*‘"&’""??r ¢) —%; -2
3
d =3
) 5
3. a) y=-3x+6




1
b =_—x+2
) ¥ 2
2
c =_Zx-2
) b s
d) y=3x+3
5
4. a) y=x-3
by y=-6x+6
5. a) y=-2x+1
2
b ==x-4
} Y 3
¢} v=>5x
3
d) y=-=x+3
d 2
6. a) slope --é-; y-intercept 3
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b) slope 1; y-intercept ~4
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a) The slope is 0, and the y-intercept is -5,

b) The slope is undefined, and there is no
y-intercept.

¢) The slope is 0, and the y-intercept is% .

d) The slope is undefined, and there is no
y-intercept.
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